



$$= (x^2 - 6x + 9)(x^2 + 1)$$

$$= x^4 - 6x^3 + 9x^2 + x^2 - 6x + 9$$

$$f(x) = x^4 - 6x^3 + 10x^2 - 6x + 9$$

2)  $f(x) = (x-5)(x-i\sqrt{2})(x+i\sqrt{2})$

$f(x) = (x-1)(x+1)(x+i)(x-i)(x-(1+\sqrt{2}i))(x-(1-\sqrt{2}i))$   
 $(x^2-1)(x^2-i^2)(x^2+1)(x^2-2x+3)$   
 $(x^4-1)(x^2-2x+3)$

$f(x) = x^6 - 2x^5 + 3x^4 - x^2 + 2x - 3$

	$x$	$-1$	$-\sqrt{2}i$
$x$	$x^2$	$-x$	$-\sqrt{2}i$
$-1$	$-x$	$1$	$\sqrt{2}i$
$+\sqrt{2}i$	$x\sqrt{2}i$	$-\sqrt{2}i$	$-2i^2$

	$x^4$	$-1$
$x^2$	$x^6$	$-x^2$
$-2x$	$-2x^5$	$2x$
$+3$	$3x^4$	$-3$

Factor the following polynomial functions completely into linear factors.

$f(x) = x^3 - 5x^2 + 2x - 10$

$f(x) = x^4 - 8x^2 - 9$